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SECTION A: MULTIPLE-CHOICE QUESTIONS [40 Marks]

The CORRECT answers to these questions must be indicated on the mark-reading
sheet provided Write your student number and the unique number 471901 on the

mark reading sheet

Question 1

ABC Limited has been subject to an internal audit The internal audit report indicated the
staff in the debtors department i1s not properly trained with regards to completing indvidual
debtor reconciliations As a result of this, the reconcihations have incorrect reconciing tems
The fact that the staff are not properly trained 1s an example of a{an)

1 risk

2 risk source

3 opportunity

4 internal control

Question 2

The purpose of an enterprise nsk management (ERM) policy 1s to

1 assist an organisation In integratng nsk management into its management
processes

2 communicate externally that nsk management 1s being practiced

3 address specific responsibilities of the board and rnisk committee

4 systematically apply management processes and practices

Question 3

The main objective of ERM is to ensure that businesses

a elimmate existing nsks altogether

b understand that nsk 1s inescapable In a business activity

c understand that taking nsk and managing #t 1s the essence of business growth

d do not take risks at all

Choose the correct combination

1 b,c

2 ad

3 b,c,d

4 All of the above

Question 4

Indicate the correct statement

1 Risk is the deviation of the expected from the actual result

2 Risk implies the presence of uncertainty

3 Uncertanty arises from a person’s perfect state of knowledge about future events

4 The probability of an event refers to its short-term frequency of occurrence
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Question 5

With reference to the concept of risk and opportunity Which of the following statements
are correct?

1 As businesses continuously expiore and develop opportunities to sustain earnings It
1s not necessary to take certain risks to maximise business opportunities
2 Traditional risk management aims to provide a coherent framework to deal with all

rsks and opportunities that result from operating in the ever-changing economic
environment

3 The effective management of nsks and opportunities assists a business to achieve
success despite difficult economic times
4 Risk averse refers to the tendency to engage in behaviours that have the potential to

be harmiul or dangerous

Question 6

What are the key obstacles in an organisation to make risk management integral with the
overall business strategy?

a Competition with other prionties

b Fear of creating a nisk-averse and bureaucratic cuiture

c Directors consider nsk management a task for line management and not the board

d The board does not understand or appreciate the principles and benehts of ERM

Choose the correct combination:

1 a.c

2 ab,c

3 b,cd

4 All of the above

Question 7

Which one of the following 1s not an example of risk taking behaviour?

1 Themba loves dniving his Maserati at high speed, he enjoys the thrill that comes with
driving fast

2 The oil prices have been falling significantly over the past few months, as a result Mr
Davies, an investor, decided to avoid buying a stake in the oll company

3 Siyaghuba General Dealers 1s in the retail business, the finance manager decides to

take out a loan from ABSA bank to open a new branch in Soweto with the hope of
growing the business

4 In therr quest to win a larger market share, Samsung has decided to invest more
funds towards technological advancement

Question 8

Which one of the following statements relates to the concept of corporate governance”?

1 Controls the Internal and externa! actions of managers, employees and outside
business stakehoiders

2 Universal and prescriptive in nature and applicable to only a few comparies

3 Assists enterpnses to attract higher-cost capital

4 Enhances the dommating of business decisions and objectives by one indvidual
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Question 9

For an enterprise to achieve and aspire to be a good corporate citizen, it has to empower the
board of directors to

a report annually on sccial, transformation, safety, ethics, health and environmental
management policies and practices

b have a silo approach to nsk management

c report on therr HIV/Alds strategic plans and policies

d disclose the company's formal procurement policies

Choose the correct combination:

i a.c

2 b,c,d

3 a,cd

4 All of the above

Question 10

ABC Limited 1s a company hsted on the JSE A majonity of the audit committee members that
have been appointed are independent non-executive directors The chairman of the board
and the chief executive officer are aiso members of the audit committee There are six
members in total Three meetings were held by the audit committee during the year The
audit committee also recommends to the board which external audit provider they teel
should be appointed to conduct the annual audit

Based on the scenario above, which of the following statements are insufficiencies in the
audit committee’s structure based on King 11i?

a A majonty of the audit committee members appointed are independent non-executive
directors

b The charrman of the board and the chiel executive officer are hoth members of the
audit commitiee

c There are six members in total

d The audit committee recommends to the board which external audit provider they feel

should be appointed to conduct the annual audit
Choose the correct combination:

1 a,b

2 b,cd

3 a,cd

4 All of the above

Question 11

Which of the following I1s an activity taken into account by the triple bottom-line principle?
1 Political performance

2 Legal performance

3 Technological performance

4 Environmental performance
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Question 12

Which of the following are the benefits of corporate governance?
a Improves confidence of domestic and international investors and therefore attracting
capital at lower cost

Corporate government ensures efficient use of company resources

Good corporate governance 1s essential to ensure adherence to legislation as weli as
corporate social responsibility

d Effective corporate governance may improve overall performance
Choose the correct combination:

1 a,d

2 b,cd

3 a,.cd

4 All of the above

Question 13

In terms of the King |l Code of governance principles

1 nsk management is separable from the company’s strategic business processes
2 nsk management should be performed on an ongoing basis

3 internal audrt should be integrated with the nsk management process
4 compliance should not form part of the nsk management process

Question 14

The ERM process has several stages, the first stage 1s establishing context, which 1s
concerned with the understanding of the

a specific business activity, process or project forming the subject of nsk management
b macro and micro environment in which the business operates

c background of the business as a whole in general terms

d identified nsk events (upside and downside)

Choose the correct combination:

1 be

2 becd

3 abec

4 All of the above

Question 15

Which one of the following statements 1s correct with regards to process mechanisms In
Stage 1 of the ERM process?

1 Financial ratios are used to look at the financial position and performance of a
business

2 The nsk management process diagnostic can be regulated or constrained by the
culture of business nisk

3 The financial performance of a business must be reviewed by looking at the PEST
analysis

4 The SWOT analysis can be used to look at the external environmental influences on

business performance and market growth or decline
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Question 16
Scenario analysis 1s used to analyse the
1 events and trends that will determine an orgamisations future
2 profitability of a business
3 strengths and weaknesses of a business
4 micro environment over which a business has control over

Question 17

Risk identification 1s a crucial step in the ERM process Indicate which of the following
statements are correct in relation to rnisk identification?

a A nsk checkiist 1s used to list all the nsks that were identified on previous projects
within the business

b A structured method of nsk identification must be implemented so that consistent nisk
management can take place

c Business nsk Is static and a discrete phase In the process

d it 1s important to be able to identify the nsks in the business and understand how they

fit nto the overail business context
Choose the correct combination:
1 a,.¢
2 becd
3 abd
4 All of the above

Question 18

Which stage in the ERM process requires a business to design a specific action plan and
produce strategic responses to address the rnisks and opportunities identified in the business
to secure business objectives?

1 Risk analysis

2 Risk treatment

3 Communication and consultation

4 Monitoring and review

Question 19

In the monitoring and review stage, control activities must adhere to which of the following?
a Measurements have {0 be congruent with the events measured
b Controls have to be a principle of economy

c Controls must be operational

d Controls have to be timely

Choose the correct combination:

1 ab

2 ab.c

3 ab,d

4 All of the above
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Question 20

The s the number of years required to recover an initial investment
1 Payback Period (PP)
Average Rate of Return (ARR)

2
3 Internal Rate of Return (IRR)
4 Net Present Value (NPV)

Question 21

The nisk analysis stage provides information on the likelihood of risks and opportunities
occurnng and the impact of them to aid 1n the decision making process Which of the
following activities need to be conducted?

a Capital asset pricing model (CAPM) analysis
b Clanfying the business objectives

c Causal analysis

d Decision analysis and influence diagrams
Choose the correct combination:

1 ac

2 acd

3 abd

4 All of the above

Question 22

MTN takes out a fire insurance policy to insure its busldings and office equipment against fire
and allied penls What form of rnisk response strategy 1s MTN using in this instance?
1 Risk retention

2 Risk removal
3 Risk reduction
4 Risk transfer

Question 23
The s an average annual return expressed as a percentage of initial cost of the project

1 internal rate of return
2 average rate of return
3 payback perod

4 net present value
Question 24

In relation to CAPM analysis, market nsk 1s measured by its beta A share with a betaof 15
tends to move up or down by the same percentage point as the equity market

Indicate if the above statement 1s true or false:

1 True

2 False
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Question 25
The main reason for moritoring risks is to establish whether
1 a rnsk database is being mantained
2 rsk response actions are effectively implemented
3 risk meetings are happening regularly
4 key risk documents are on display in key locations

Question 26

A company requires all managers at various business units to make use of a standard

template when identifying nisks and reporting these risks to the Head Office This process
activity 1s an example of

1 internal communication
2 external communication
3 controlling information
4 executing action plans

Question 27

is @ method used by a business to evaluate the effect of uncertainty on a planned activity
in a range of situations and uses random numbers to sample from a probability distnbution
1 Scenaric analysis
2 Monte Carlo Simulation
3 Latin hypercube sampling
4

Simulation

Question 28

Key Pertormance Indicators (KPIs)

1 are useful to directors to assess whether therr annual bonuses will be awarded

2 help understand the market as a whole

3 assist with business planning

4 are used to measure a business’ health

Question 29

A nsk response tlow chart 1s used

1 to illustrate the decision options used to arnve at a risk response category

2 to reduce the hikelhood of an occurrence through risk spreading

3 as a technique by a business to respond to a particular recurring nisk

4 as a technique by a business to reduce risk and the impact of risk

Question 30

Which one of the following statements 1s incorrect with regards to credit risk?

1 Credit nsk 15 the financial loss suffered due to the default of a borrower or
counterparty under a contract

2 Counterparty nisk relates to the certainty surrounding the payment of future amounts

3 Detault nisk 1s the probability of the event of default

4 Recovery nsk relates to the uncertainty over the likely recovery
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Question 31
nsk 1s considered to be embraced within operational risk
1 Liquidity
2 Currency
3 Funding
4 Reputational

Question 32

Employees working in Company A have access to the Company’s Code of Conduct, which is
not available to external parties The Code of Conduct 1s posted on the Company’s
1 information assets

2 Intranet

3 management information system
4 E-commerce

Question 33

Company XYZ 1s n the process of mplementing Project A They need to identfy the
legislation that the project needs to adhere to This identification of legislation relates to the
stage of the PRM process

1 establish the context
2 nisk dentification

3 monitoring and review
4 risk analysis
Question 34

It an individual other than an employee gains unauthorised access to a company computer
by way of a public telecommunications system, that individual 1s guilty of

1 using an unauthorised pubhc telecommunications system
2 unauthorised access with the intent to commit offences

3 software malpractice

4 internet misuse

Question 35

A breach of ethics can lead to

1 favourable media coverage

2 increased share prices

3 fines

4 ncreased profitability

Question 36

A health and safety management system comprises of

1 management arrangements and nisk mitigation

2 management arrangements , nsk control systems and workplace precautions
3 nsk rmitigation, nsk identification and risk control systems
4 nsk evaluation and workplace precautions
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Question 37
Which one of the following examples 1s seen as a social risk to a business?
1 The technological changes in a market
2 Inflation and Increasing house prices
3 The shrinking percentage of the working population that is of working age
4 Loss of reputation because of a prosecution or a dispute with a customer

Question 38

The policy 1s a mechanism which the reserve bank uses to manipulate the supply of
money, the supply of credit, interest rates and exchange rates

1 monetary

2 trade policy

3 fiscal

4 balance of payments

Question 39

The shooting of striking mine workers by the South African Police Setvice in August 2012 1n
the Marikana area 1s an example of  nisk

1 micro political

2 macro political

3 health and safety

4 environmental

Question 40

Which of the following 1s a nisk control measure i a health and safety management system?
1 Erecting a security wall around a property

2 Having a back-up facility at a distant location

3 Emergency procedures such as recovery plans following a fire

4 A disclaimer delivered with the products marketed by a company

END OF SECTION A
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SECTION B: ESSAY QUESTIONS [30 Marks]
Answer ALL the questions In the space provided
Question 1 - Introduction to ERM (10 Marks)

Mr Samuel has just been appointed as the new CEO of A-Z Supermarket He approaches
you as the nsk manager to gan a better understanding of the implementation of enterprise
risk management (ERM} within the company

Compile a report addressed to Mr Samuel in which you hughlight the ments of ERM
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Question 2 - Enterprise risk management process (10 Marks)

2 1 Explain the difference between risk removal and nisk transfer Use examples to elucidate
your answer (4)
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22 When 1t comes to the perception of nsk, groups and individuals might perceive risk
differently Indicate how the Utility Theory explains this phenomenon {(6)
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Question 3 - Internal influences: Micro factors (6 Marks)

Identify the three pnmary technology types important to a business and give one exampie of
each
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Question 4 - External influences- Macro factors (4 Marks)
Explain the concept of market nisk to a business

END OF SECTION B
TOTAL 70 MARKS

©
UNISA 2016
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DO YOUR ROUGH WORK HERE - NO ROUGH WORK WILL BE MARKED.
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